Pool Carton Breakdown
6” BARBADOS ROUND 24’ - 52”

NB1528
| FRAME CARTON # _2452-6HP-WS-2 |

Qty Part # Part Description
[] 16 1164 6in Top Seat L=1126 (44-3/8”) 12ft
(1] 16 2366 6in Vertical (52 High)
L] 1 0022 Warranty
L1 1 0023 Safety Decals
[l 1 0024 Parts List + Frame Instruction
(1] 1 0025 Safety Booklet
1] 1 0001 Round Instruction
1] 32 1624 5/8in Rail L=1431mm (56-3/8")

Qty Part # Part Description
L1] 32 2167 6in Joint
1] 16 2463 6in Seat Cover
1| 16 2464 6in Seat Cover Bracket

Seat Cover Assembly Bolt Package

(1| 176 0513 1/4” x 1/2” Truss Head Screw
1| 32 0344 5mm x 16 Sheet Metal Screw

Page 1 of 2




Pool Carton Breakdown
6” BARBADOS ROUND 24’ - 52”

NB1528

SIDE WALL CARTON #  2452-HIG-W

[] 1 52” Wall Pattern - Highland Park Grey
L] 18 8100 Plastic Edging

52” Wall Joint Bolt Package
1| 26 0513 1/4” x 1/2” Truss Head Screw
1| 51 0411 1/4" Reinforcing Washer
L1] 26 0611 1/4" Nut

Page 2 of 2




